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PART A: Grammar
Directions: Select the answer choice (1), (2), (3), or (4) that best completes the blank. Then mark the correct

choice on your answer sheet.

T2 31- Learning represents an enduring change in behavior or in the capacity to behave in a given fashion, .... .

1) and practice or other experiences result from
2) which results from practice or other experiences
3) from which results practice or other experiences

4) practice or other experiences which they result from

2 32- A meta-analysis of 50 years of research concluded that classroom management has almost ........... student
ability.

1) as much impact on student learning as 2) so much impact on student learning that is

3) as much as an impact on student learning as 4) so much impact as on student learning as on

TR 33- After personal standards have been adopted, discrepancies between a performance and the standard

........... evaluative self-reactions, which serve to influence subsequent behavior.
1) activate that which it is measured against 2) which is measured against by activating
3) to activate the measurement against 4) against which it is measured activate

R 34- Knowing her troops would perish if they didn't give their all, and knowing that even a single

goldbricker could scuttle the mission, the Queen became a martinet, ........... .
1) draconian punishments threatening all who didn't perform well enough
2) threatening draconian punishments for all who didn't perform well enough
3) draconian punishments threatened for all those who didn't perform well enough

4) for all who didn't perform well enough draconian punishments were threatened

TR 35- Certainly Schon’s conception of reflection has much to recommend it. His conception of reflection-

in- and on-action and ........... adds both texture and substance to Dewey's understanding.
1) the accompanying of the spiral of appreciation, action, and reappreciation
2) the spiral of appreciation, action, and reappreciation that accompany
3) the accompanying spiral of appreciation, action, and reappreciation

4) accompanies the spiral of appreciation, action, and reappreciation

2 36- Success is thought to be based on such factors as checking one's performance in a language, being

willing to guess and to ‘take risks’ with both comprehension and production, seeking out opportunities to
practice, ........... , and many others.

1) developing efficient memorizing strategies

2) to efficiently develop memorizing strategies

3) by to develop and memorizing efficient strategies

4) and to develop strategies efficient for memorizing
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T2 37- The genre of literary interpretation is more specialized than most of the other genres addressed in

this section, ........... .
1) the table below suggesting it 2) and below in the table suggested
3) as suggested by the table below 4) for the below table suggesting it

T2 38- Perhaps underlying the debate is that familiar, false opposition set up between different kinds of

fiction, according to which enjoyable novels are held to be somehow slightly lowbrow, ........... .
1) but not being considered as truly as literature unless it is a tiny bit dull novel
2) and a novel is not considered true literature unless it is a tiny bit dull
3) which is not considered as true literature unless being a tiny bit dull

4) unless it is a tiny bit dull, a novel is not considered true literature

PART B: Vocabulary
Directions: Select the answer choice (1), (2), (3), or (4) that best completes the blank. Then mark the correct

choice on your answer sheet.

T2 39- The deceased was a writer but not a very successful one. Incidentally, death had been a ...........

motif of his oeuvre; the hero of almost every novel of his died, or thought of dying, and was a writer.

1) heinous 2) recurrent 3) mordant 4) lackluster
TR 40- It is a crime to marry small children who do not even understand the full ........... of the word
'marriage.'

1) innocuousness 2) deity 3) solicitousness 4) import

T2 41- When the wrongdoer was finally acquitted, people said that the evidence had been deliberately held back

by the police, the witnesses had been ........... and that the judges too had not pressed the police to be more
serious.

1) suborned 2) intercepted 3) incensed 4) manumitted

R 42- If you too are suffering from sleeplessness, cannot find any romantic reasons for it, and even the

most boring lecture cannot make you........... , you are probably suffering from insomnia.
1) flummoxed 2) exhilarated 3) languish 4) somnolent
TR 43- In the midst of his argument, the lawyer received a telegram. He read it, kept the ........... on the

table, and continued his advocacy. After the hearing was over, he picked up his stuff, handed it over to his
subordinate and instructed him to handle the office in his absence.

1) script 2) credo 3) missive 4) encryption

T2 44- Comparable worth is a concept that rejects the premise of a separate and lower wage ........... for jobs

that are done primarily by women, arguing instead that earnings should reflect only the worth of the work
performed.
1) hierarchy 2) continuum 3) gamut 4) peccadillo

TR 45- Now if you make late payments or exceed your credit limit, you should be shifted into what they call

........... penalty interest rate on your credit card.
1) an insolvent 2) a default 3) an accrued 4) a debit
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Explanation: option 1 is out because one can ask “result from what”? Option 3 is out because results which is
singular does not agree in number with practice and other experiences. Option 4 is out because they refers to
practice and other experiences. A referent and its antecedent cannot be used together. Option 2 is the best though
this option has its own problems. Which results from ... is a relative clause. A relative clause must be placed as
close as possible to its antecedent, which is here learning. Option 2 would be correct if the author said resulting
from rather than which results from.
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Explanation: commit these two patterns to memory:

Noun 1 + transitive verb + as much / many + object + as + Noun 2
.... Classroom management (N1) has (tra V) as much impact on student learning (obj) as student ability (N2) .
The pattern can also be paraphrased as follows:

Noun 1 + transitive verb + object + as much / many + as + Noun 2

...classroom management has impact on student learning as much as student ability.
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Explanation: our sentence lacks a main verb, so 2 and 3 are out. Option 1 is out because it is not clear what that
which refers to. Moreover that which is awkward and not usable in advanced writing.
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Explanation: The subject of a participial clause is the same as that of the main clause, so here the subject of both

clauses is the Queen. Also see the following example:

A spate of laboratory experiments has provided clues, at the cellular level, to the processes of aging. The

implications have fueled hopes that medical advances will slow our decline, extending longevity well beyond the

century mark.

Therefore option 2 is the best.
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Explanation: 4 is out because and connects two parallel structures. However, the structure preceding and is a

noun phrase but what follows and in this option is a verb phrase. Option 2 is out because accompany is transitive,
but here it lacks object. Option 1 is out because the accompanying of the spiral of sounds wordy.
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Explanation: Items in a sequence require strict parallelism. Because the items in this sequence begin with a
gerund, so must the item in the blank. So only 1 is correct.

....checking ....., being willing .......... , seeking out ..., developing ....
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Explanation: whenever you want to say «ass o ;ylis p; JSo /| Jsa 45 ghilena», use one of the following structures:

..., as the figure / table etc shows / indicates/ suggests ....
...., as showed / indicated / suggested by the figure etc.
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Explanation: two structures connected by and require strict parallelism:

..... according to which enjoyable novels are ..... , and (according to which) a novel is not considered ....

o3l 3pgd ey
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Heinous: very shocking and immoral

Recurrent: happening or appearing several times. Collocation: recurrent theme

mordant wit/satire/humour: unkind and insulting humour etc that is also funny

lackluster: not exciting, impressive

Ll oy S o8 Sy ) Zledsl xe jeim 45T oleaze b zlgosl «F» aiy 35 _Fe
Innocuous: not offensive, dangerous, or harmful
Deity: a god or goddess
Solicitous: very concerned about someone’s safety, health, or comfort
Import: importance or meaning

o o2 olad assy) L;Le,\ g Sl o0y, 1) laalls g 00,55 &l ooy @ |y vwleds [oes Oy ST p0 g0l &5 15 e &5 gloj €I 4y 35 FY
Wl S5 go | alts

Suborn: to persuade someone to tell lies in a court of law or to do something else that is illegal, especially for

money

Intercept: to stop something or someone that is going from one place to another before they get there

Incense: to make someone very angry

Manumit: release from slavery; set free
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Flummoxed: completely confused by something
Exhilarated: feeling extremely happy, excited, and full of energy
Languish: to be or become feeble, weak, or enervated

Somnolent: almost starting to sleep

5o ols aslsl 093 (695 9idS s g SIS 095 e (53, |y s lig plo wlg 1) T w0, il Wl KB LSy oS gcdS lawg jo €Y aiy ¥ FY
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Script: the written form of a speech, play, film etc

Credo: a formal statement of the beliefs of a particular person, group, religion etc

Missive: a letter — often used humorously

Encryption: protecting information by putting it into a special code that only some people can read, especially
information that is on a computer
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Hierarchy: a system of organization in which people or things are divided into levels of importance

Continuum: a scale of related things on which each one is only slightly different from the one before

Gamut: the complete range of possibilities

Peccadillo: something bad which someone does, especially involving sex, which is not regarded as

very serious or important
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Insolvent: not having enough money to pay what you owe
Default: failure to pay money that you owe at the right time
Accrue: if money accrues or is accrued, it gradually increases over a period of time
Debit: a decrease in the amount of money in a bank account, for example because you have taken money out of it
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Counterpart: someone or something that has the same job or purpose as someone or something else in a different place
Functionary: someone who has a job doing unimportant or boring official duties
Zealot: someone who has extremely strong beliefs, especially religious or political beliefs, and is too eager to make
other people share them
Exponent: an exponent of an idea, belief etc tries to explain it and persuade others that it is good or useful
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Entrench: strongly establish sth so that it is not likely to change

Disabuse: to persuade someone that what they believe is not true . Collocation: disabuse sb of sth
Portend: to be a sign that something is going to happen, especially something bad

Divest sb of sth: to take something away from someone

el oarm s nl Comme laShs 5l (Ko Hollim Slegdge 390 10 LIS Dlxpdg (iSlacrls) lp Wz 5 S <o 5 P a5 FA
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Irredeemable: too bad to be corrected, repaired, or saved

Enigmatic: mysterious and difficult to understand. Collocation: enigmatic expression / smile

Estimable: deserving respect and admiration

Quotidian: ordinary, and happening every day
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Intercession: when someone talksto a person in authority in order to prevent something bad happening to
someone else

Denunciation: a public statement in which you criticize someone or something

Ostentation: when you deliberately try to show people how rich or clever you are, in order to make
them admire you

Aggravation: the state of making a bad situation, an illness, or an injury worse

el BL3 | o 2lg055 5 (gaingd ( FLinS (9,0 ( K iogs Jie digligtl clas (6w b jalls «Fr 4y 35 .
Humility: the quality of not being too proud about yourself — use this to show approval
Dementia: an illness that affects the brain and memory, and makes you gradually lose the ability to think
and behave normally
Serendipity: when interesting or valuable discoveries are made by accident
Presumption: behaviour that seems rude and too confident
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X\ 1- Which of the following underlined segments is a constituent?

1) She seemed incredibly lucky to me. 2) She seemed incredibly lucky to me.

3) She seemed incredibly lucky to me. 4) She seemed incredibly lucky to me.
W 2- “Constancy under negation” test is applied for .............

1) presupposition 2) implicature

3) entailment 4) paraphrase

X 3- The thematic role of the underlined words in the following sentence are:
We persuaded Mary to apply for the job as a teacher.

1) Theme-agent-goal-role 2) Theme-agent-role-goal

3) Agent-theme-goal-role 4) Agent-theme-role-goal
X 4- The following can be read as: To be or not to be, which represents the ............. writing
system.

2 <\ B 2 o

1) rebus 2) logogram 3) cuneiform 4) hieroglyph

T 5- Which of the following is a case of progressive assimilation?
1) olf [Ip 2) tem bagz 3) haef to gov 4) wotsza problom

T 6- Which of the following is a case of clefting?

1) Where Maya wants to go for her holidays is to Greece.

2) It's after class that Maya wants to look at your notes.

3) Maya said that she would leave early, and Emily said so too.

4) On your bag, that girl in the blue dress will put a picture of the King.

T 7- The sentence “John would sang” is ungrammatical because .............

1) tense shows up on the verb.

2) tense shows up on the auxiliary.

3) tense shows up on the leftmost auxiliary.

4) it contains more than one marking for tense.

X 8- Which of the following is NOT a case of clipping?

1) Laze from lazy 2) Van from caravan
3) Curio from curiosity 4) Psycho from psychology

TR 9- Which of the following refers to anomia?
1) A type of aphasia characterized by labored telegraphic output.
2) A type of aphasia characterized by partial loss of the ability to produce language.
3) A type of aphasia characterized by inability to name objects and difficulty in accessing nouns.
4) A type of aphasia in which individuals have difficulty understanding written and spoken language.

X 10- Which of the following is NOT a case of embedding?
1) The girl the man the boy saw kissed left.
2) The old men are working and I am sleeping here.
3) The surgeon and the doctor whom the nurse aided cured the disease.
4) A farmer who was kicked by his donkey would nevertheless not take revenge.
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R 17- Read the following data:
Fred should get a haircut, and so should John.

*Fred should get a haircut, and so John.

*Fred should get a haircut, and so should Ricky a haircut.
The analysis that best describes these data is:

1) The word so substitutes for the material dominated by NP.

2) The word so substitutes for the material dominated by AUX.

3) The word so substitutes for the material dominated by VP.

4) The word so substitutes for the material dominated by AUX and VP.

R 18- Which consonants can constitute a syllable nucleus?
1) Stops 2) Nasal and liquids
3) Fricatives and nasals 4) Nasals and oral consonants

W™ 19- The first sounds in the words week and yacht are both .............
1) glides 2) liquids 3) labiovelar 4) high vowels

X 20- Which of the following is wrong?
1) The words pinks scarlet, orange, hot pink, and pumpkin form a subclass of the word red. They are
referred to as hypernyms of red.
2) The verb “get” is agood example of polysemy - it can mean “obtain,” “become,” or “understand.”
3) Two or more words are homonyms if they either sound the same (homophones), have the same
spelling (homographs), or both, but do not have related meanings.
4) Two lexemes are synonyms if they can be successfully substituted for each other in all situations.

W 21- Which of the following is a characteristic of criterion-referenced tests?
1) They indicate the content of the behavioral repertory.
2) They are appropriate for assessing abstracted language ability traits.
3) They are used to disperse the performances of students in anormal distribution.
4) The interpretation given to an examinee' s score on such testsis called arelative decision.

W\ 22- The problems related to the claim that task-based language performance assessment
(TBLPA) can be used to make predictions about performance on future language use tasks
outside the test itself are ...............

1) task selection, implementation and realization

2) task difficulty, validation and conceptualization

3) task selection, generalizability and extrapolation

4) task generalizability, conceptualization and extrapolation

™ 23- Studies show that teacher-related factors that affect washback are ............

1) teachers’ attitude toward exams, their autonomy, their nationalities, and their identities

2) teachers' beliefs, their autonomy, their nationalities, and their educational backgrounds

3) teachers attitude toward exams, their institutional commitment, their identities, and their personalities
4) teachers' beliefs, their attitudes toward exams, their educational backgrounds, and their personalities

T 24- Which of the following is a feature of performance assessment?

1) It fosters test-taking skills. 2) It reflects speed and accuracy.
3) It contributes to classroom change. 4) It offers a static view of achievement.

T 25- All of the following are challenges of testing listening comprehension EXCEPT ..........
1) it isextremely hard to construct a pure test of listening that does not require the use of another language skill
2) there are other test factors such as the test takers' memory capacity that could also contribute to the test score
3) text characteristics that can influence test difficulty, including the phonological qudlities of the text are too
hard to control
4) while listening comprehension might primarily be viewed as a process of constructing meaning from auditory
input, that process involves more than the auditory signal alone
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1- Choice "1"
A test of constituency is coordination. Only the underlined portion of option 1 can be coordinated.
She seemed incredibly lucky to me but seemed not too approachable.

2- Choice "1 & 3"

Constancy under negation is a test of both presupposition and entailment. This principle holds that to see if a
sentence presupposes / entails another, negate that sentence, believing that presupposition remains under negation,
but entailment does not.

3- Choice 3"

We is agent [/ Mary is theme also agent
The job is goal [ Ateacherisrole

4- Choice "1"

Rebus is a system of writing in which words are represented by pictures whose names sound like the word. One
classic example of rebus writing is 4 sale (for sale).

5- Choice ""4"
Progressive assimilation occurs when one sound influences the following sound as in What’s the problem which in
casual speech is pronounced /wotszo problony/. In this case [s] which is an alveolar influences [0] which is interdental.

6- Choice "2"

Clefting removes a constituent from its source sentence and places it after an it.
a. Maya want to look at your notes [after class].

b. It's [after class] that Maya want to look at your notes.

7- Choice "'4"
The sentence is ungrammatical because it has more than one marking for tense: would and the past form of sing.
8- Choice "1"
Option 1 is a case of backformation because laze, which is a verb, is created from lazy, which is an adjective.
9- Choice "3"
Anomia has to do with inability to name objects and word-finding difficulties.
10- Choice 2"
The second option is a case of conjoining or coordination not embedding, which relates to relative and noun clauses.
11- Choice 4" S
. . . . . NP/
The appropriate tree diagram for this sentence is as follows: N
Det N
AN
the farmers
VP
/ \
v
/
believe

— "\

RN

he h b v
the ungry eavers/ / \

frighten Det N
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12- Choice "'2"

If “it showered every day of the week” istrue, then it showered on Wednesday” is also true.

But to check if this sentence is a case of presupposition or of entailment, negate it. The former remains under
negation, but the latter does not, so let’s negate the sentence:

If “it did not shower every day of the week” istrue, then “it showered on Wednesday” is not necessarily true and its
truth must be checked, so this option is a case of entailment.

13- Choice "'2"
Option 2 isacase of lexical ambiguity because bat can mean: a baseball bat or aflying mammal.

14- Choice ""3"

Here the following conditions must be met:

Person B hasto believe that X has not yet been done;

Person B hasto believe that Person A can actually do X;
Person B hasto believe that Person A iswilling to do X; and
Person B has to actually want X to be done.

15- Choice "'3"
Praise is not adeclarative verb; it is expressive.

16- Choice ""2"
Option 2 relates to inflectional not derivational morphemes.

17- Choice ""3"
In this sentence, so is aproform for get a haircut. In other words, it is a substitute for what comes under VP.

18- Choice ""2"

In phonetics and phonology, the nucleus (sometimes called peak) is the central part of the syllable, most commonly
avowel. However, sonorant consonants such asliquids (such as[r] and [I]) and nasals (such as[m] and [n]) can
serve asthe nucleusif there is no vowel.

19- Choice 1"
[w] and [j ] are both glides.

20- Choice "1"

The relationship between the words given in option 1 is called hyponymy. There are severa inter-related
terminologies underlying this term that are confusing.

Theterm that isin the highest level is called superordinate or hypernym, which is here red.

The words that are immediately categorized under superordinate or hypernym are called hyponyms or co-
hyponyms.

So in this option, pink, scarlet etc. are hyponyms (not hypernyms) of red.

21- Choice "1"
As pinpointed by Glaser (1963), Criterion-referenced tests indicate “the content of the behavioral repertory, and
the correspondence between what an individual does and the underlying continuum of achievement”.
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Table: Differences between Norm-Referenced and Criterion-Referenced Tests

Characteristic | Norm-Referenced | Criterion-Referenced
Relative (A student's performanceis Absolute (A student's performance is
Type of Interpretation compared to that of all other studentsin compared only to the amount, or
percentile terms.) percentage, of material learned.)
Type of Measurement To measure general language abilitiesor ~ To measure _specmc objectives- based
proficiencies language points
Purbose of Tetin Spread students out along a continuum of  Assess the amount of material known, or
P g general abilities or proficiencies learned, by each student
L Varies, usually non-normal (students
Distribution of Scores  ormal distribution of scoresarounda iy vy all of the material should all
mean
score 100%)
A few relatively long subtests with a A series of short, well-defined subtests
Test Structure . . o )
variety of question contents with similar question contents
Knowledge of Questions Students have little or no idea what Students know exactly what content to
g content to expect in questions expect in test questions

22- Choice "3"

Bachman (2002) argues that there are several problems with supporting the claim that TBLPA can be used to make
predictions about performance on future language use tasks outside the test itself. These problems are related to
task selection, generalizability and extrapolation. Because of the complexity and diversity of tasksin most ‘real-
life' domains, the evidence of content relevance and representativeness that is required to support the use of test
scores for prediction is extremely difficult to provide.

23- Choice 4"

As indicated by many washback studies in the literature, the phenomenon of washback affects and is affected by
different stakeholders’' related factors. Teachers are one of the most important individuals in washback effect whose
beliefs, attitudes toward the exam, educational backgrounds, and personalities affect the process of washback and
its degree and direction.

24- Choice 3"

Performance assessment is a systematic attempt to measure a learner’s ability to use previously acquired
knowledge in solving novel problems or completing specific tasks. It ams to model real-life language and
encourages teacher to teach to the domain rather than to the test or the task. Therefore, it does not distort teaching.
This type of assessment contributes to classroom change (Bond, 2005, p. 22; Seyfarth, 1993, p. 25). It reflects
knowledge and proficiency and takes a dynamic view towards achievement as opposed to the static views of
traditional ways of assessment.

25- Choice 3"

There exist many challenges to measure listening comprehension. One of such challenges is that it is impossible to
construct a ‘pure’ test of listening that does not require the use of another language skill. In addition to listening to
aural input, test takers are likely to have to read written task instructions and/or questions. They also have to
provide either oral or written responses to the questions. Consequently, what might be intended as a listening test
could also be assessing another language skill. There are also other test factors such as the test method and test
taker characteristics such as memory capacity (Henning, 1991) that could also contribute to the test score.
Moreover, Buck claims that while listening comprehension might primarily be viewed as a process of constructing
meaning from auditory input, that process involves more than the auditory signal alone.

26- Choice 2"

Poehner (2009, p.478) differentiated two approachesto Group DA with L2 learners: concurrent Group
DA and cumulative Group DA. In concurrent Group DA the teacher interacts with the entire group. To be sure, the
teacher may provide mediation in response to an individual, but the interaction shifts rapidly between primary and
secondary interactants as one learner’ s question, struggle, or comment sets the stage for another’s contribution. In
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